R HAKE] - BERE T I B EA R M R R KT R

T4
9 A

CRIRERS |ty | AHE| BHEG | TR | wEpR | pREE | RasE | EEnn | A
1 Atk wmE 3 O 76 0 5 3 4 88
2 Bk = E R 1 O 86 0 4 5 7 102
3 CH =i E R 2 O 112 0 5 0 1 118
4 D## EWEXR | 4 — 39 0 — — 4 43
5 Efk ZDfth 5 O 75 0 3 3 5 86
6 Fi#k ZiE 5 — 65 0 — — 0 65
6A 453 0 17 11 21 502

S5 | A% | THInn | sersasns | EEE | RaEE | ZEss | A
ENE 1 86 0 4 5 7 102
ENE2 1 112 0 5 0 1 118
E/NHES3 1 76 0 5 3 4 88
EN#E4 1 39 0 0 0 4 43
ENHES 2 140 0 3 3 5 151

it (9 453 0 17 11 21 502

e | A% | THE | mEHE | pREE | R2EE | BEdn | A

W= 1 76 0 5 3 4 88
B nE X7 3 237 0 9 5 12 263
i 1 65 0 0 0 0 65
=iE 0 0 0 0 0 0 0
ZDfth 1 75 0 3 3 5 86

At 6 453 0 17 11 21 502




